HE4%V:

RANGLISTE MITGLIEDER +

SBUBEN
- KASSEL

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

57. SPIELABEND AM 17.07.20

DI. 14.JULI FR. 17. JULI GESPIELTE SERIEN VERL

RANG NAME SCHNITT| + /- || GEW | VERL
1.SER.| 2. SER.| GES. || 1.SER.|2.SER.| GES. A| V % GEG
= |LOHSE, MI. 2 3 1.235 10,7| 1,3 | 6,0
= |RUHKAMP 2 | 10 1.220 14,429 | 3,6
= |BAUCKLOH, A. 8 | 34 | 40%| 1.140 11,3 1,4 | 6,2
2 [ = |[HONAUER 939 | 800 2 | 49 | 53% | 1.064 11,2 2,1 | 5,0
= [mAauL 18 | 23 1.060 11,9 2,3 | 5,0
= |BRAUNHAHN 12 | 23 1.039 12,0 2,5 | 44
3 | = |BAUCKLOH, W. || 1.600 1.589 | 1.188 8 |85 |94a% | 1.007 | +9 || 9,7 [11 |52
4 | = pBUST 1.020 | 685 14 | 27 | 36% | 951 10,0 | 1,6 | 3,6
5 | = |KURING 12 | 47 | 56% | 949 10,9 | 2,3 | 4,0
6 [ = Jv.ROOS 734 |1.336 1.492 | 820 50 | 53% | 947 +8 |110,8] 2,3 | 4,0
7 | = [KNOFEL 1.073 | 611 868 | 547 50 | 53% | 921 -9 [J10,6] 1,9 | 3,0
8 | = |cLacow 1.047 | 1.150 62 | 66% | 912 +6 |l10,1] 1,7 | 41
= |POTTER 16 900 98 (23 |54
9 [ = |WINTER 824 | 860 16 | 62 | 74% | 891 10,0 | 2,0 | 3,7
= |BREITFELD 31 869 9,8 | 2,5 | 4,5
= |KEIm 24 866 81 (11|54
= |SKWARSKI 18 | 20 856 9,9 2,7 |54
= |EWERT, w. 30 847 86 | 1,7 | 49
10 | = |DELLITH 784 | 786 804 | 628 78 | 83% | 836 -3 |89 |17 |37
11 | = |[KRATZSCH 10 | 40 | 47% | 819 8,0 1,0 |45
12 | = |[KUDERLING 704 | 546 816 | 616 70 | 76% | 800 -3 |82 |16 |42
= |GESSNER 2 |17 792 9,1 |20 |42
13 | = |GANTE 468 | 626 1.065 | 519 10 | 90 |100%| 789 = |J10,0( 2,7 | 4,0
= |EWERT, UWE 2 | 30 774 7,7 | 1,4 | 5,7
14 | = [KOSSINGER 12 | 39 | 47% | 722 7,5 | 1,2 |33
15| = |PORTER 437 | 741 44 | 48% | 627 117512232
= |BLAUERT, A. 32 617 62 |15 | 46
= |LOHSE, MA. - 2 | 2% | 1.239 10,5 | 0,0 | 4,0
= |GRECIC - [ 11 J12%| 836 73|10 |65
= |BOHM - 2 2% 834 65 |00 |70
= |DILCHER - 4% | 789 78 | 1,5 | 45
= |REITZE, A. - 2% | 787 75|15 |35
= |HEYNER - 3% | 777 6,7 | 1,0 | 6,7
1 |REITZE, R. - [ 112 J12%| 766 7,9 | 1,9 | 4,7
4 |FLOTHER 202 |1.166 - 8 | 9% | 750 21 9.6 | 25 | 2,9
= |WIESER - [ 34 ]36%| 656 81 (21|31
= |APPELBAUM - 1% | 289 50 4,0 |90
= |KAUFMANN - 1 | 1% | 173 6,0 | 4,0 | 2,0
= |JUNBEKANNT - 1% | -309 8,0 8,0 |20
DURCHSCHNITT | 821 9,4 1,7 | 46




